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1 Uqputrptrbp
33600000 tlbn urqnn&uhrutr ur n rn runnrutrp

33691 1 91 hubtrqhu r $nubnr hur hntrbn 5dr unLl q< 454 499.4 t100
33611120 $utlnLnhrlhL 20LIq unLl q< 610 183.0 300
33611130 UunpnqfrU 0j% 1 d1 (urrnpnq[rtrir unrtgurLn/ :ptlruI g< 65 19.5 300

33661160

1 1u Ln [$[f lr 0,2%1, 0 /q 1ur Ln frgI frtrfr
h hnnnr,n u n r,n n r"u r-n )

unLlu
lr q< 100 20.0

200
33600000 PhuurUnnhr 1Odq hur-n q< 53 21.2 400
24321650 $LhqbnhUh tlnrlhUtrbn huLn q< 86 12.9 150
336111s0 Q u L L1 pbur Ln hL ( 

t h u,t ur q, Lu dh t ur q, ut n n Ln b ur q )35 0 hurp q< 31 279.0 9000

3361 1 1 50
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4500U'IUU, ulpnrnhruq 300U'IUU),
hhrifrohl 1nr-1 nq, t hr1 nt Furn ur4nruilruuhp

hurp

q<

22 4.4

200
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tJbrnnllnqpurdfr4 2f1 dbmnllLnqpurdh+h

hhnnnornnhn)
un{ q< 47 61.1
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336ll170 rppnr-nu tfbpirLfr hfr4pnplnpfr4 B0dq 2d1 /huru q< 3B 38.0 1 000
33611170 nnnLntuUbnhtrh hhnnnBrnnhn 40dq 2dr unLl q< 51 25.5 500
33651 1 46 $nLpurQnfiryntr 0.05LIq hurp q< 3 0.9 300
33600000 Lfr$nLnpuurqhry oZurnurtl huLn q< 1750 26.3 15

33651261 1-rurlirqftpuurBBnL 0.5 Uuruu g< 124 34.7 280
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222 177.6

800
33611240 UU r"n h rl urq r.l urb ur6n Llu /huu q< 3 6.0 2000


